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Distinguish between Cost Accounting and Financial

Accounting. 7
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From the following information in respect of material number

30, calculate re-order level, minimum level and maximum

level of stock of material number 30. 8
Re-order quantity 1500 units
Re-order period ' 4-6 weeks

Consumption per week :
Maximum 400 units
Normal 300 units

Minimu_m 250 units
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(@@ Write a short note on ‘ABC Anaiysis’ of material

control. 7
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From the followjng information taken from the cdsting
records of XYZ Company in respect of material numBer
101 for-the rhonth of January, 201' 1, prepare stores ledger
account according to LIFO and \yeig‘hted average method

of pricing material issues : 8

. Purchases :

January 10 200 units @ ) per unit
January 16 400 units @ T 3.50 per unit
Issues :

January 20 100 units

January 28 200 units

Shbrtage :

January 31 25 units
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From the following information, calculate machine hour

rate':

Cost of the machiné

Installation charges

Estimated scrap value at the end of
effective working life (}5 years)
of the ;nachine

Rent‘and rates of thé workshop

per month

Insurance premium for the machine

pér annum

Power Cvons_umption 10 units per hour

Rate of power per 100 units

Supervisor’s salary per month

710,00,000

< 1,00,000

¥ 50,000

¥ 3,000

39,200

T 200

36,000

Estimated working time of the machine per annum is

2,200 hours. This includes setting-up time of 200 hours.
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‘The setting-up time is regarded as productive time. The
machine occﬁpiés one-fourth area of the“ workshop. The
supervisor is expected to devote one-fifth of his time in ’

supervising the operation of the machine. 8
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What do you understand by absorption of overtieads ?

- Explain briefly the various methods of aBsorption of

factory overheads. | _ 7
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From the following information prepafe :
(1) " Cost sheet

(i) Profit and Lossr Account and

(iii) Reconciliation Statement.

Material per machine - %1,500

Wages per machine . T 900
Numl?'er of. machines manufactured and sold 80‘
Selling price per machine 34,250
Works expenses , ?43,00?)
Office expenses | ?48,060

In cost accounts, works overheads are charged at 60%
of the wages and office overheads are recovered at 20%

of the works cost. 8

P.T.( ),
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" Discuss the meaning and advantages of marginal

costmg. . | 7
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What is labour turnover ? What are the costs associated
with it 2 How would you treat these costs in cost

accounts ? 8
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The following information has been taken from the
costing records of a company in respéct of job

number 123.

Materials (4 4‘1,01‘0
Wages :

Department A 60 hours @ X 3 pervh_our

Department B 40 hours @ T 2 .per hour

Department C 20 hours @ T 5 per hour

P.T.O.
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Overheads for the three departments are estimated as

follows :

Variai;;le overheads :

Department A ¥ 5,000 for 5,000 hours»
Department B T 3,000 for 1,500 hours
Department C ¥ 2,000 for 500 hours
Fi;cea' overheads :

¥ 14,000 fc')r 7,000 hours

You are required to calc‘ulate the cos’; of job number
123 and also calculate the price to be charged S0 as to
yievld a profit of 25% on the selling price. 7
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From the ‘following information, calculéte : 8

0] break-eveﬁ.pein! in units,

(1)) tﬁe selling price per unit if the break~even\ point is
to be brought down to 4,000 units and

(éif) the number of units to be sold to earn a profit

of ¥ 10,000.

Direct material T 4 per unit

Direct labour % 3 per unit
Var_iable overheads 100% of direct labour

Selling price.? 20 per unit

Fixed overheads % 50,000.
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Discuss the meaning and advantages of budgetary

control. 7

soe-fraTn & e et el w1 fedEA
<|,

P.T.O.



(-16 ) 7645

(b) From the following information relating to Process A,

prepare Process A Account, Abnormal Gain Account and

Normal Loss Account. 8
Units introduced 840
"~ Cost per unin % 40
Material added %5,924
Direct Qages' ' : Z 8,000
Overhead§ 4 8,000.
-Actual ‘output 750 units,
Normal loss 15% of input
Value of scrap | ‘? 10 per unit.
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What is idle time ? How would you treat normal and

" abnormal idle time wages in cost accounts ? 7
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. (b) - From the following information, calculate : 8
() total kilometres and

(if) total passenger kilometres.

Number of buses 4
Days operated in a month 30
Trips. made by each bus per day 2
Distance covered in one trip 200 kilometres
Seating capacity of each bus 40 passengers

Actual passengers carried 75% of seating capacity.
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Discuss the meaning and advantages of perpetual

inventory system.
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A company is currently operating at 60% of its capacity.

From the following information for 60% capacity level,

P.T.O. '
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‘prepare budgets for 80% and 100% capacity levels. 8

Production _ 600 units
Direct Materials Z 100 per unit
Direct’ Wages | % 40 per unit
Direct expenses ¥ 10 per unit
Factory expenses ¥ 40,000 (40% fixed)
Administrative expenses ¥ 30,000 (60% fixed)
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Surya Construction Ltd. started business with a paid up capital
of ¥ 50 lakhs. On 'lst April, 2009, it undertook-a contract to
construct a building for ¥ 60 lakhs. Cash received on account
of the contract upto 31st March, 2010 was ¥ 18 lakhs (being
90% of work certified). Work uncertified as on 31st March, 2010.
was estimated at ¥ 1,00,000. As on 31st March, 5010, the cost
of materials at site was ¥ 30,000 and outstandin‘g wages were
T 5,000. Of the plant anid machinery charged to the contract,
machinery costing ¥ 2,00,000 was returned to stores on 31st
March, 2010. Plant and machinery charged to the contréct is

to be depreciated at 5%.

P.T.O.
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The following were the ledger balances (Dr.) as per the trial

balance as on 31st March, 2010.

4
Land and building o 23,00,000
Plant and machinery (60% at site) 25,00,000
Furniture 60,000
Materials | 14,00,000
Fuel and Power 1,25,000
Site éxpenses 5,060
Office expenses 12,000
Raies and taxes 15,000
Cash at bank 1,33,000
Wages | 2,50,000

Prepare Contract Account and Balance Sheet for the year ending

3 lstA March, 2010.
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